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Question Number : 1 Question Id : 2549896360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Random Access Memory (RAM) is a type of memory.

Options:

1. = flash

2. #» non-volatile
3. v volatile

4, = smart

Question Number : 1 Question Id : 2549896360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

sA vFag ARNT (RAM) T TR 1 T &

Options:

1. = Trefel
2. % FAld-allcBd

3. v dlecsd
4. = THAC

Question Number : 2 Question Id : 2549896415 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

Exchange of images or data from one application to another is
done by using:
Options:

1. = icons

2. = control panel
3. v clipboard
4. = thumbnalls

Question Number : 2 Question Id : 2549896415 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0



fordT Tk TTolTheeT & GEY Urellehelel H Al (Images) 3R
3CT ST TeRaTof o ganT forar STar Bl

Options:

el

1. = 3{TSehiel
2. = helel Ualel
3. v T&egas
4, = Udael

Question Number : 3 Question Id : 2549896455 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0

Which of the following is an extension of MS Excel 2016 File?

Options:

1. » TMT
2. % XXl
3. v XIsx
4. = XIS

Question Number : 3 Question Id : 2549896455 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

foeeT & & i T MS Excel 2016 WIEd T UFacAd &7

Options:

1. = . TMT
XX

2. %
3. v .xlsx
4, = xls

Question Number : 4 Question Id : 2549896558 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

Before storing data in a new disk, it has to be:

Options:

1. = initialised



2. = cleaned
3. v formatted
4. = fragmented

Question Number : 4 Question Id : 2549896558 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

Ueh o [3€h H 3¢T IR Flal & Ugol, AT TohAT STAT ATRT?

Options:

1. = 3feleremges
2. * Folles
3. v BIHCE
4, = IHAES

Question Number : 5 Question Id : 2549896785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The is controlled by a mouse and changes shape
depending upon its current function.

Options:

1. = Icon

2. * Menu
3. = Help

4. v Pointer

Question Number : 5 Question Id : 2549896785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

I Teh ABH @RI Tt fohar Siar § 3 S 38

AlSIal Herelel & 3R W 3R Seoidl ¢

Options:

1. % 3Sahlad
x Aeg

o,

2.
3. % o9




4. v izl

Question Number : 6 Question Id : 2549896894 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

1s the measurement used to determine a printer
resolution.

Options:

1. = BPI
2. % API
3. v DPI
4. = CPI

Question Number : 6 Question Id : 2549896894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

reT Raregere uiRa +3et & v 3uaner feear
IRT ATT &IaT &l

Options:

1. = BPI
2. = API
3. v DP|
4. = CP|

Question Number : 7 Question Id : 2549896331 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

decides the maximum value or number of characters
that can be stored in a field.

Options:

1. » Format

2. *» Input mask
3. = Caption

4. v Fleld size

Question Number : 7 Question Id : 2549896331 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

HTURAH AT IT TN HT HEAT FT fTUROT AT §,
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Options:

1. » A
2. * Zelqc HTEh
3. * heele
4. v Fres @gel

Question Number : 8 Question Id : 2549896476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Third generation computers were based on:

Options:

1. = Vaccum Tubes

2. = MiCcroprocessors
3. v Transistors

4. = Integrated Circuits

Question Number : 8 Question Id : 2549896476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

AT OIET & Fogel TR T iR o

Options:

Question Number : 9 Question Id : 2549896974 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

A spindle of magnetic disks, called platters, that record and
store information is called:

Options:



1. = Floppy diskette
2. v Hard disk

3. = Permanent disk
4. = Optical disk

Question Number : 9 Question Id : 2549896974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

qaehg f3Eh T T of, Tod TeleT el AT &, foraa
STeTeh T Neris 3 T T S1aT & 3899 T Fgd &

Options:

1. = AU T3The
2. v B8 3%

3. » TUS BT

4. = 3ffCewme BFh

Question Number : 10 Question Id : 2549897524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The shortcut key to centre align a paragrpah in MS Word is:

Options:

1. v Ctrl+E
2. % Ctrl+]

3. Ctrl+M
4. % Ctrl+L

Question Number : 10 Question Id : 2549897524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Word & RTIMHE I Q0T A S Fla b [olT 2licehe

imﬂ AT &7
Options:
1. v Ctrl+E

2. = Ctrl+J



3. # Ctrl+M
4. = Ctrl+L

Question Number : 11 Question Id : 2549897644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

This type of mouse requires a battery and can be connected to
your computer through a USB that emits radio frequencies.

Options:

1. * Wired Mouse

2. v Wireless Mouse

3. » Touchpad

4. = Track-point mouse

Question Number : 11 Question Id : 2549897644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

0 U o ASH hl il Rl HaeThdT gidr & 3 Ig 39+
HTYET W Th JUHET & ATCTH F ST @1 TehalT & ST I3
RIFAdT T Scloidd AT ol

Options:

1. = a8 AT (Wired Mouse)

2. v dR Igd AT (Wireless Mouse)
3. = U8 (Touchpad)
4. = ¢h-gise AT (Track-point mouse)

Question Number : 12 Question Id : 2549897735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A is a printer that uses a focused beam or light to
transfer text and images onto paper.
Options:

1. * Dot matrix printer
2. = Chain printer



3. v Laser printer
4, = Ink Jet printer

Question Number : 12 Question Id : 2549897735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

TR et & 31 e W U6 3T SEar S T RT
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Options:

1. » B¢ Afeaw e
2. = T WeT

3. v ool Mex

4, % Zehole TOeX

Question Number : 13 Question Id : 2549897860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

1s the most popular enterprise DBMS for the “open
source” community.

Options:

1. » SQL server
2. v MySQL

3. = DB2

4. = Oracle

Question Number : 13 Question Id : 2549897860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

“HiveT G FHER & AU scafas uiig vergs
SevATH (DBMS) &

Options:

1. = THFGUS (SQL) |8
2. v AR-THFITS (MySQL)
3. » S&2 (DB2)




4, » 3 aer (Oracle)

Question Number : 14 Question Id : 2549898690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In MS Excel Sheet, the contents of A1 is4, A2 is 5 and A3 is
=A1+A2. The contents of Cell A3 are copled to cell B3. What
would be displayed in cell B3?

Options:

1.+ 0
2. % 4
3.%5
4, %9

Question Number : 14 Question Id : 2549898690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

MS Excel ¢fic &, A1 framaar 4 & A2 5 & 3w A3 & = AT
+ A2, @ol A3 I TTHIT &I B B3 H 14l ThaAT SAET &1 T
B3 # T ugreta fohar SATae?

Options:

1. v O
2. % 4
3. % 5
4. = 9

Question Number : 15 Question Id : 25498912981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which of the following is NOT a Web Browser?

Options:

1. = Chrome

2. = Internet Explorer
3. = Safari

4. v Windows



Question Number : 15 Question Id : 25498912981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

e A7 & i O a9 F13e a8l &7

Options:

1. = A

2. % Sclele THHTAT
3. * GHRT

4. v Qe

Question Number : 16 Question Id : 2549896956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Two or more computers that are connected with one another
for the purpose of communicating data electronically is called
ajan:

Options:

1. v Network

2. = Grouping

3. = Library

4, = Integrated system

Question Number : 16 Question Id : 2549896956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ar a7 THE TR FYeT AT elagielsh T F 3¢T & FART
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Options:

1. v @Acdh
. % 9T

2
3. « JECeherd (STgadl)
4. = T YUl (3E1ACS TOECH)




Question Number : 17 Question Id : 2549898961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MPEG stands for:

Options:

1. v Moving Picture Experts Groups

2. = Moving Program Experience Groups
3. = Message Passing Expert Groups

4. = Message Program Eligible Groups

Question Number : 17 Question Id : 2549898961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

MPEG =T qoT &9 =T §7?

Options:
1. v Haer R vagae o7 (Moving Picture Experts
Groups)

2. » A UETA TFEARIE I8 (Moving Program

Experience Groups)

3. = HAer grfder veawe I (Message Passing Expert
Groups)

4. » HOS WA vlelsiael I8 (Message Program Eligible
Groups)

Question Number : 18 Question Id : 25498910853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which one of the options i1s FALSE with respect to Laser Jet
and Ink jet printers?

Options:

1. = A laser printer can turn out pages more quickly than an
inkjet printer can.

2. v Toner costs for a laser printer total far more per page
than refilling and replacing inkjet printer cartridges.



3. » A laser printer is generally quieter than a low-cost inkjet
printer.

4. = No Inkjet printer will ever turn out black text and line
graphics as crisply as a laser printer does.

Question Number : 18 Question Id : 25498910853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Aol 9ic 3 Zh Sl el & g9 # hid 4T dhed el g7

Options:

1. % Tk ofol fUeT U gehole MeT &1 ool & 31fah doir &
TSl I el Fehcll ¢

2. v U ool Ut & folv 2ol T aWId Fel 9ld I8 31w
g S ghole e FRAT FT T F o6t 3T sgera T Joral
H 3+ B

3. » Ueh ool W IHAAN T FH AP dlel Sholc 9l hl
cJorell # AT Bl B

4. » Py AT Sholc WX T AT FTel daee 3T ABaT Tthad
FT 3del TUSE T T Wehe ool AT Toider for e e ar
g

Question Number : 19 Question Id : 25498911552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

To move the cursor to the beginning of the current line, use
the key.

Options:

1. v Home

2. » Page up
3. = Enter
4. » Shift

Question Number : 19 Question Id : 25498911552 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

HET T TTATS olTSel shi YE3MTT H of Sl & forw
il T ITART HI|

1. v BIH
2. % Oa AT

3. # UL
4. = f9Fc

Question Number : 20 Question Id : 25498918437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Default printing option (toolbar print button) will print
pages of a file automatically.

Options:

1. = even number
2. » odd number
3. v all

4, = current

Question Number : 20 Question Id : 25498918437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

f3hiee Mifesr RAereT (3UFTUT UET §eo) TaaTfeld ¥ & Ueh
SIECECS Je3T T HEOT FIAT &

Options:

1. = §H &I
2. » fawa e
3. v AT

4. = FAHTT

Question Number : 21 Question Id : 25498924286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0




Android operating system is basically developed for:

Options:

1. = Desktop

2. v Mobiles and Tablets
3. = Laptop

4. » Mainframe

Question Number : 21 Question Id : 25498924286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Uegigs 3fafeer FaecH + Held: & fow faerfad fomar
T g

Options:

1. = SEhcIY
2. v Alasd 3 &Fele
3. = oUeiq
4. = HelhH

Question Number : 22 Question Id : 2549897616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A is a physical docking point using which an external
device can be connected to the computer.

Options:

1. v Port

2. » Socket

3. = Device

4. = Peripheral

Question Number : 22 Question Id : 2549897616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

vk #ifceh Sifeher g & o 3wier & smedt 3o
P HYY T ST T Fehedl &

Options:




Question Number : 23 Question Id : 2549898138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Authorised access is usually granted by entering your
and password.

Options:

1. = system name
2. v username
3. = MAC address
4. = IP address

Question Number : 23 Question Id : 2549898138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

IBCTS q§t4 AT 9T 39e M THEs sTea W
BRI

Options:

x» THECH oTtH
2. v 3YARTHAT ATH (JoaA)
3. = MAC 9dr
4, = |P Udar

Question Number : 24 Question Id : 2549898225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

T 3UINT ek deISE UL Silel dTel YT STleld &

%W@E%ﬂ%aﬂtmﬁﬁaﬁﬁl

Options:

1. = @18




2. v YHIOIA

4. % YICIehiel

Question Number : 24 Question Id : 2549898225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

By using the , computers visiting a website know that
the website is legitimate and features proper security.

Options:

1. = code

2. v certificate
3. = program
4, = protocol

Question Number : 25 Question Id : 2549899462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Most of the printers use to store pages.

Options:

1. = hard disk
2. v memory
3. = USB drive
4. = connectors

Question Number : 25 Question Id : 2549899462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

HITHAT e goal il HIEIT el & ToIv T 3T
A Bl

1. sxﬁ'é%ﬁ

2. v HART

3. » JUHEl 3=d




4. % halded

Question Number : 26 Question Id : 25498910980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A collection of devices connected together in one physical
location, such as a building, office, or home, is called:

Options:

1. = CAN
2. v LAN
3. = WAN
4. = PAN

Question Number : 26 Question Id : 25498910980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Tah #Hifde TATT W Uk A1 Fade ThU 0 B3I FT I8
S8 5 19T, RO IT OX, T ferafai@d & O FAT Fad &7

Options:

1. = CAN
2. v LAN
3. = WAN
4. = PAN

Question Number : 27 Question Id : 25498913443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is a popular image file format?

Options:

1. = JPEG
2. v PDF
3. = mid
4. = otf

Question Number : 27 Question Id : 25498913443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



[Tl & & i Th dlhoT SId (SHS) HId TTET &7

Options:

1. = JPEG
2. v PDF
3. *= mid
4, = off

Question Number : 28 Question Id : 25498911118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

1s a computer program that sequences print jobs by
temporarily storing them in a buffer and sending each one to
the printer when the printer is able to process it.

Options:

1. = Pool

2. v Spool

3. » Driver

4. = Operating system

Question Number : 28 Question Id : 25498911118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ot # & Sl Teh g WaH § S A FTT T TR H
HEART 9 8 FH H Taed wdTl g 3T 38 8 Tcdeh ol
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Options:

1.« @

2. v ¥l

3. » BN
4. = 3T Aee

Question Number : 29 Question Id : 25498911287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Sound waves produced at a radio station through microphone
change into:

Options:

1. = sound waves

2. v electrical signals
3. *» heat waves

4, = light waves

Question Number : 29 Question Id : 25498911287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ATShITI o ATeTd & IBAT Tord U 3culied eafer adan @l
forg & aRafda ¥ fgar srar g7

Options:

1 foT

. % edle dldl

2. v Solldehol QI

3. % FSAT I

4. % GRTeT TIIT

Question Number : 30 Question Id : 25498925150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The is the wider network that allows computer
networks around the world run by companies, governments,
universities and other organisations to talk to one another.

Options:

1. » Web Portal
2. » Website

3. v Internet

4. = WWW

Question Number : 30 Question Id : 25498925150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0



Ush SIT9eh alcdsh & ol §1-T?’I?SIT L & FYI Acds I
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Options:

1. = Web Poral
2. = Website

3. ¢ Internet

4. = WWW

Question Number : 31 Question Id : 2549896226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

WesT 7 341 Fewll (AE) Fr ufaat @A g g,
foee 3MTa <& ToRaT ifhel etel & felv IR @1ET £

Options:

Tt

1. = SASTHT
2. « I3cHod

3. v ZT¥cH
x Hc Bead

Question Number : 31 Question Id : 2549896226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The folder retains copies of messages that you have
started but are NOT yet ready to send.

Options:

1. = inbox

2. % outhox
3. v drafts
4. = sent items

Question Number : 32 Question Id : 2549896277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



_ Mode is used to hide the writing tools and menus and to
leave more room for the pages themselves. It automatically
fits the page layout to your device, using columns and larger
font sizes, both of which you can adjust.

Options:

1. v Read
2. = Write
3. = Draft
4. = Print Layout

Question Number : 32 Question Id : 2549896277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

AIS T 3YIET ol&el 3YHIUT 3 Hel FT fFUE 3N
T geaf & forv 31fas g orsa & forw forar srar &1 I8
FielH N §3 Wiec THRI T 3YAET Fah Tadleld &7 &
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Options:

1. v {15 A5

Question Number : 33 Question Id : 2549896446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the full form of ISP?

Options:

1. = Infrastructure Service Provider
2. v Internet Service Provider
3. = Internet Security Protocol



4. = Internet Survey Period

Question Number : 33 Question Id : 2549896446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ISP T quT &9 7 87

Options:
1. » SohIEeaad Giad WarssT (Infrastructure Service

Provider)

2. v 3clsle Aag WassY (Internet Service Provider)
3. = Sclale OFAIEr Werhial (Internet Security Protocol)
4, » Belac Td UINIS (Internet Survey Period)

Question Number : 34 Question Id : 2549896617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which ribbon shows what fonts are available for use in MS
Word 20137

Options:

1. = View

2. » Page Layout
3. = Reference
4, v Home

Question Number : 34 Question Id : 2549896617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS a$ 2013 & Fis7 & Reet gelfich & fF 5o &g #is7 @
Wic 3Tesy &7

Options:

1. = 2

2. % Ul o33
3. = IWed
4. v BF



Question Number : 35 Question Id : 2549896688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

When you create a chart on the same sheet as your data, you
can view both the data and the chart at the same time. This
type of chart is called as:

Options:

1. = linked chart

2. v embedded chart
3. = processed chart
4. = same chart

Question Number : 35 Question Id : 2549896688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

& AT 3Yel 3T & ®9 H 347 ¢fic W Tah ATC FATd &, ol
AT 22T T TE ST FY G 1T 3T Thd &1 3T TRR *
TTE T FIT gl SATdT g7

Options:

1. = Tolerg =1¢
2. v THIEE ¢
3. = YOEE A

4. = QH TC

Question Number : 36 Question Id : 2549897008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following displays the contents of the active cell
in MS Excel?

Options:

1. » Name box

2. » Row headings
3. v Formula bar
4. = Task pane



Question Number : 36 Question Id : 2549897008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

fAFT 7 & i OT MS Excel # OfshT & hr GrAIT wered
LT &7

Options:

1. % #ATH SieFg

2. = I grsar

3. v LI'JIJ-cI:\eII =IEy

4. = TTEH UaT

Question Number : 37 Question Id : 2549897061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

There can be many ways to insert a page numbers in an MS
Word 2016 document.
Which of the following lets you insert page numbers?

Options:

1. ¥ Page number from Insert menu
2. = Page Setup from File Menu
3. = Footnote from Insert menu
4. = Page number from Design menu

Question Number : 37 Question Id : 2549897061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Word 2016 STegHc del HEAT o8 lal & H5 Hlh &
Hehd &
Tl & & hisl AT TR Uof AEAT Fodc hlal H

TE—IdT dar g7

Options:

1. JWW?WH@T
2. « WISel Hel @ Ul de3T




3. * geWC Aq ¥ Fedle
4%%@?%@%@

Question Number : 38 Question Id : 2549897611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the full form of BIOS?

Options:

1. v Basic Input / Output System
2. = Basic Inside Outside Storage
3. * Business Infrastructure Operations System
4. = Binary Input Output System

Question Number : 38 Question Id : 2549897611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

BIOS =T 9ol &7 7 &7

Options:
1. v 8= SaJc 33CYC fEeq (Basic Input / Output
System)

2. » 8% TAESE 33edss el (Basic Inside Outside
Storage)

3. = Tooleid SWHhIEcaHay 3HTerT 8eeH (Business

Infrastructure Operations System)

4, = SISeT gaJc 33CYC Beed (Binary Input Output
System)

Question Number : 39 Question Id : 2549898051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

chart are meant to express a "part to whole”
relationship, where all pieces together represent 100%.

Options:

1. = Line



2. » Bar
3. = Ring
4. v Pie

Question Number : 39 Question Id : 2549898051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

ATE HT 38 "3emell (€ ¢ areN)" T HOY eTFd
AT BIAT &, ST&1 TAT AET (F) Thare fAeeRe 100% el
gl

Options:

1. = orSel
2. % S
3. = Rar
4. v IS

Question Number : 40 Question Id : 2549896269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The MS Office application that manipulates data organised in
rows and columns is called

Options:

1. v Excel

2. » Word

3. = Presentation
4. = Qutlook

Question Number : 40 Question Id : 2549896269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Office TTelTeheld, ST Tioddl 3T Hicdd H sTgedd 3T
FT 39T HLaT &, I _ h@erdr gl

Options:

1. v Excel



2. = Word
3. % goieeld
4. = Qutlook

Question Number : 41 Question Id : 2549896388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

foeet # O i T Sold el &7

1. = 3ETel (Google)

2. = 3Tcar Ta¥er (Alta Vista)

3. = ?II'IEI (Yahoo!)
4. v SHE (Gmail)

Question Number : 41 Question Id : 2549896388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT a search engine?

Options:

1. = Google
2. » Alta Vista
3. = Yahoo!
4, v Gmalil

Question Number : 42 Question Id : 2549897099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which one of the options is NOT an example of an email
program?

Options:

1. * Gmail
2. = Qutlook

3. v Chrome
4. = Thunderbird



Question Number : 42 Question Id : 2549897099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Aereul A & i Uh SHAT WEIMH T 31807 dgl &7

Options:

1. = Gmall
2. = Qutlook

3. v Chrome

4. = Thunderbird

Question Number : 43 Question Id : 2549897452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

The "Margin” command can be accessed in MS Word under
the ribbon tab.

Options:

1. v Layout
2. = Design
3. = Draw
4. « Home

Question Number : 43 Question Id : 2549897452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

"ATToTeT" HHATS hl REe & o dgda MS Word A
TFAT 9T ST GohaT &

Options:

1. v Layout
2. = Design
3. *= Draw

4. «x Home

Question Number : 44 Question Id : 2549898039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



In MS Excel, type chart can be plotted vertically and
horizontally.

Options:

1. » Radar

2. v Bar

3. * Doughnut
4. = Ple

Question Number : 44 Question Id : 2549898039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

AT & TR A MS Excel # dead(@icae) va &faer
(BETRGTece) T & AT RAT ST ohdT T

Options:

1. » T

2. v 9
3. % Bl
4. = O

Question Number : 45 Question Id : 2549898389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the short cut key in MS Excel for moving the selected
cells?

Options:

1. v Ctr]+X
2. = Ctrl+C
3. = Ctrl+Vv
4, = Ctrl+0

Question Number : 45 Question Id : 2549898389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

T Tl I TATATART Fla o oT MS Excel # ¢liche
Foll e AT 87




Options:

1. v Ctrl+X
2. = Ctrl+C
3. = Ctrl+V
4. = Ctrl+O

Question Number : 46 Question Id : 25498910465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

In MS Word the sentence "what is your name?”, needs to be
changed to "What is your name?”. Which of the options under
"Change Case..” would you choose?

Options:

1. v Sentence Case

2. » Uppercase

3. = Capitalise each Word
4. = Toggle Case

Question Number : 46 Question Id : 25498910465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Word T H "HT9RT dATH T §7", sl "HITRT ATH 1
7" H FEolel whl @Rl ol "Tof & " & d&d hid Il
Options:

1. v §eH T (Sentence Case)
2. » 3T (Uppercase)

3. = hiUcloles U ds (Capitalise each Word)

4. = giatel oA (Toggle Case)

Question Number : 47 Question Id : 25498910507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O



For adding a "New comment” in a MS Word document, the
relevant command icon can be found in the tab of the
Ribhon.

Options:

1. = Insert

2. * Layout

3. = References
4. v Review

Question Number : 47 Question Id : 25498910507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Word g&amdel & "d5 fecqoll” Jisa & oIT, §ardd waA1s
MEaha RNET & ¢F H URIT ST GhdT &

Options:

1. = Insert

2. » Layout

3. = References
4.

v Review

Question Number : 48 Question Id : 25498913285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the typical RAM size in a normal laptop for office
usage?

Options:

1. = 256 MB
2. % 512 MB
3.v8GB

4. % 256 GB

Question Number : 48 Question Id : 25498913285 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

FRTT 3TN & oIT Tk ATATT oueiad & @fese I\ 3R
T BT &7

Options:

1. = 256 MB
2. = 512 MB
3. v 8 GB

4. = 256 GB

Question Number : 49 Question Id : 25498910497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

For adding a Table in MS Word, the relevant command is
available under the tab in the Ribbon.

Options:

1. * Home
2. v Insert
3. = Design
4. = Layout

Question Number : 49 Question Id : 25498910497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Word & T difolerT Sige & o, gafaa 3mder e &
¢ & Jdad 3Udls BT &

Options:

1. = Home
2. v Insert
3. = Design
4. = Layout

Question Number : 50 Question Id : 25498910579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Which of the following line spacing option is NOT available in
MS Word?

Options:

1. = Single
2. = Double
3. v Multiple
4., = Triple

Question Number : 50 Question Id : 25498910579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Word & fa#afeli@d & & Fid &7 a3« T8 [dehed
3UesY gl BT &7

Options:

1. = Tarer
2. % Sdol

3. v HAedludl
4, = feger

Question Number : 51 Question Id : 25498918934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The shortcut key to Insert a page break in MS Word is:

Options:

1. = Ctrl+Break

2. v Ctrl+Enter

3. = Shift+Enter

4. = Ctrl+Shift+Enter

Question Number : 51 Question Id : 25498918934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Word # 956 TaUTH (page break) HTFATEIT sla T

eTicehe iwclnl FT &7

Options:




1. = Ctrl+Break
v Ctrl+Enter
Shift+Enter
= Ctrl+Shift+Enter

I
®

Question Number : 52 Question Id : 25498918946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Short cut key Switch between open applications in all
versions of Windows Is:

Options:

1. v Alt+Tab
2. » Ctrl+Tab
3. = Ctrl+Esc
4. = Alt+Enter

Question Number : 52 Question Id : 25498918946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

RO ¥ Tl GEROl F m s ¥ d feaw A ofte

e giw'lnl o
Options:

1. v Alt+Tab
2. = Ctrl+Tab
3. % Ctrl+Esc
4. = Alt+Enter

READING COMPREHENSION

Section Id : 2549893346
Section Number : 2

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1

Number of Questionsto be attempted: 1



Section Marks: 5

Sub-Section Number: 1
Sub-Section Id: 2549893359
Question Shuffling Allowed : Yes

Question Id : 25498920797 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)



The Life of Helen Keller

Helen Keller was born in Tuscumbia, U.S.A. When Helen was
only eighteen months old, she fell very ill. She almost died.
Her life was saved, but the little child lost her sight and
hearing. For the rest of her long life she neither saw nor
heard anything. The little girl was imprisoned in a dark, silent
world. She could only hold on o her mother’s skirts and
malke signs to show what she wanted. She knew that other
children could spealk, but she could not. She had to learn
everyvthing by feel and touch. There was none to help her and
so she often cried and shouted with anger because she could
not make people understand her. Mrs. Keller also cried in
despair because they could not help her.

Helen tried to do things herself. She learned to dress and
undress herself without help and to comb her hair and tie a
ribbon. And then, when she was seven years old, her parents
found Anne Sullivan for her. She was a wonderful teacher
who devoted the rest of her life to teaching Helen to read and
write. Miss Sullivan had been blind herself when she was a
child, but she got back her sight. So when she was older, she
had decided to spend her life helping the blind children. She
had learnt the Braille alphabet and methods of teaching blind
people to read and write.

She taught Helen to spell words in the palm of her hand with
her finger. She gave [elen a doll to hold in one hand while
she spelt out ‘doll” in the other. Helen ran in joy to her
mother, showed her the doll and spelt oul the word in her
mother's hand. In this way Helen learnt the names of all the
things around her. She learnt to spell thirty words in a day.
Later it was difficult to give her an idea of the words which
she could not feel with her fingers. But the child soon learnt
words like give, take, lift, go, come and even abstract words
like think, feel, love, want etc.



Sub questions

Question Number : 53 Question Id : 25498920798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following options 1S INCORRECT?

Options:

1. * She could not see the people and the world around her.
2. = She could not hear what other people talked about.

3. v She could not feel the touch of other people.

4. = She could not speak to others.

Question Number : 54 Question Id : 25498920799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

How did Helen Keller become physically challenged?

Options:

1. v She became severely ill at the age of eighteen months and
became severely challenged.

2. » Her illness could not be diagnosed by the doctors treating
her.

3. » Medical Sciences was not very advanced in those days.

4. = Her parents could not afford to buy the very expensive
medicines that were prescribed by the doctors.

Question Number : 55 Question Id : 25498920800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

What made Helen Keller cry and shout with anger?

Options:

1. = She could not play with her mother all the time.

2. v Her inability to express her thoughts and feelings to
others.

3. » Her inability to participate in the activities that went on
around her.

4. = She felt neglected and ignored by others.

Question Number : 56 Question Id : 25498920801 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

How did Helen's world change with the coming of Anne
Sullivan?

Options:

1. * Helen could speak some words

2. v Helen could spell a lot of words

3. » Helen made some friends

4. = Helen’s parents were not happy with her progress

Question Number : 57 Question Id : 25498920802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Choose the option that is INCORRECT.

Options:

1. * Helen insisted on doing her own work herself.

2. = Helen learnt to dress/undress herself and also combed
her hair without any help.

3. v Helen refused to carry out the instructions of her mother
and Miss Sullivan.

4, » Helen learnt to read and write from Miss Sullivan.

Question Id : 25498920797 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53to 57)



Belel theld =T =da

%ﬂﬂﬂﬁ?ﬂﬁﬁlﬂ?@ﬂ?ﬂ.ﬂ:@ﬁ@ﬂlaﬁm
Faw Hang AdEr fr oo, 8 gy aga e gz ad) gy e
mﬁﬁﬁlmﬁmmﬁmﬂﬁmmaﬁﬁaﬁﬁ
A IHHT T AT gelel FT aTHAr =@ Ar oA Hoe S e #
Eﬁﬂﬂgﬁfﬂmmﬂﬁraﬁﬁgﬁlmﬁﬂsﬁﬁw
Y, T gierar # e R o an &g daw HeEl w o
The @1 THE el of v gg S T o 3@ Tme F Re
Teha 24T o) g7 Fear oF R 3= T 89 #@ed &, ol
aE T A FT FHAT IH FEEE FIH A T O G
TIE=T TSTI SHehT HAog Tda & (ol Hig 87 7@ a1 v saew
&g T T o 3T Fro F Reent O s @ gg #@
FAET T THIT A&7 Tehar o7 Aedr Far o e & 4
ool o #0ifE & 3udr meg i) ST |dn

dole & g & et S oS oS o3 Ber R
HEIAT & ®9s UgaAaAT HT gaar SrEn T HOs e #i
arasr T Fasr araer dran i s, 59 oag @ are oo
ﬂﬂ:mﬁma“mﬁ?ﬁvﬂﬁraﬁaﬂaﬁr&nﬁwm
ﬁﬁaﬂtﬁﬁ?ﬁﬁﬁﬂﬁﬂmmmm#%ﬂ
39 T Siae F @A B B gheae e fn audE
3y off, AfRer St 2fSe arow s o o) A S aw ad g,
AT Iealel WU Fidel i 3T Fodr T gl =9 7 oaalia
Flal 1 WEem FRAT ATl 3esler do autATaT AT 3 @ &
T AN fomeT TEet & SR & el S am

Sealel Bolel Tl IHhT 3oTeil & BT T Gl # 9Fal &l Soaror
Foa fEmEmn s da w1 o gy # geEe ¥ v s
afEar &1, SElh Iepie gEdl o AT A ader aas) gee
welt & 3ol 7 Fr avw e, 3@ aftar R s ol mn
F ETA F oTeg T ITANOT AT IH TE oelE o HUe M-
o F1 @ GET F T WE 36 v e & J et
STHMOT FIaT AT #1g # 38 39 =g F arr # aae
Afewar a1, o=t @8 aroel 3Rt & eyl T g o)
Wehe god o e &l UH SEal 1 WIET S 26T, w367,
ST, 3 ST TE A fF s ereg SR Wi, aiee, o,
Feante & wrEn




Sub questions

Question Number : 53 Question Id : 25498920798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

faeT # O i a1 AreT TET a18T §7

1. % gg &N 3T 370a 3TE-IR k1 gfelar T w8l 3% Fehl
2. = 98 ol ol TRl T 3o ol of form o & a1
3. v GF 3 W9 & Tl T HAFHH el Y Tehl
4. = 9% SEU & ST gl HT Hehr

Question Number : 54 Question Id : 25498920799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

2ol Shold o eI &9 O feegmerar :a fAe?

Options:

1. v T8 3ORE Hald T 37 H MR &7 & SAT & 75 31}
AR T & feeamer ar %

2. * SiFedl TART 3ThT STANT T Tolalel Tl AT ST Fehr

3. « 341 foeit Rfscar e sgd Sead agt o

4. » 3Hb ATCI-FAT stecl garT frenid sga #gah qamw

TG FT NTEH el 38T Toha o

Question Number : 55 Question Id : 25498920800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

golel hold o 4 Us 3T Frer F ”ears?

Options:

1. » T8 &1 AT Yol AT o 9T dal Tof Gehl

2. v gEYU HI 396 TAIRT 3R A3 T shFd Flel H 3He]
AT

3. = 3Uel MA-UH Rl ATATATSAT H HET oled H ITepr 3T
4. = 3« @Y @R 3UfeT FAggd far




Question Number : 56 Question Id : 25498920801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

¥ Gfae F e F W 3o B g R aad T

Options:

1. = %ﬁ?rgha eTsE Slol gehdl 2T

2. v 2ol §&d IR ¢ec Faral 2 / Rolel Usal hT STeR
e S o

3. % golel @ G aEd FelTU

4. = golel & ATAT-TIAT 3ThRT TR & T 7igl o

Question Number : 57 Question Id : 25498920802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Iod [ TFeT FT TIT F|

Options:

1. = golelal TS 37T FIH Fa W AR e

2. * goldda ToaT TRl TEIAT & U8 UGoldl 3T Scoldr Ir@m
3T 39ar STl F FET I

3. v gelefel 3Uel AT 3N fAG gloger & et 1 q et @
TR FT T

4. » goletel TAE Glelder & Tgatr AR Torgar @

QUANTITATIVE APTITUDE

Section Id : 2549893347
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 6
Number of Questionsto be attempted: 6
Section Marks: 6

Sub-Section Number: 1

Sub-Section 1d: 2549893360



Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914206 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: O

What approximate value should come in place of the guestion mark (7) in the following question? ( You are not expected
ta caleulate the exact value.)

[5% of 609 + 27 8% of 450 =7
Options:

1. = 220

7 @ 233

3. % 267

A % 248

Question Number : 58 Question Id : 25498914206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

frataftm o & v FE (7) F T T AT A 2 g e (MR Tl A A

TAOTAT FET FAAT B

608 1 18% + 450 =T 27.5% = ?
Options:

1. = 220

2. v 233

3 = 267

4. » 248

Question Number : 59 Question Id : 25498914239 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0
If the numerator of a fraction is increased by 150% and the denominator of the fraction is increased by 350%, the

s B fan ok - ;
resultant fraction is _—z . What is the original fraction?
=1

Options:
11
1. = 17
11
? = 15
15
3. 17
13
4 = 15

Question Number : 59 Question Id : 25498914239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ofy &dr Bed &1 39 150% 927 f2ar =197 § T 39 e % 27 350% =91 feam Jrar & & gfomsr
ﬁlﬁ's—? e BT E| A e wie o g

Options:
11
T. » 17
11
2. = 15
15
3. v 17
13



Question Number : 60 Question Id : 25498914185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What will come in place of question mark (?) in the following
number series?

13 13 19 43 103 ?

Options:

1. = 221
2. % 227
3.v 223
4. % 217

Question Number : 60 Question Id : 25498914185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

farafali@d aear s # ueafles (?) & T« W F
TTIT?

13 13 19 43 103 ?

Options:

1. = 221
2. % 227
3. v 223
4. = 217

Question Number : 61 Question Id : 25498914193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In the following question, two eguations numbered | and |l are given here. You have to solve both the
equations and give the answer accordingly.

l.15x2 —29x + 14 = 0
W 6y2—5y—25=10

Options:



4. v Relationship between x and y cannot be established

Question Number : 61 Question Id : 25498914193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

few =1e wea &, 21 AT | 3R 1| few 1T #| Sl WA H gl FRd §T dGGER I &

L15x° —29x+14—=0
I.6y° —5y—25=0

Options:

T m X2y
2. X<y
3. x X>Y

4 o x 3Ry & § gav wRE F@ A S g

Question Number : 62 Question Id : 25498914257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Rajni purchased a mobile phone and a refrigerator for 12,000 and 10,000
respectively. She sold the refrigerator at a loss of 12% and the mobile phone at a
profit of 8%. What 1s her overall loss/profit?

Options:
1. % Lossof3280



7 % Profit of 72,160

3 ¢ Loss of 240

4. % Profit of 22,060

Question Number : 62 Question Id : 25498914257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

T=a1 & U AEEd B AT v Ifssier Fen 12,000 v T 10,000 U F wiEn 3o ifsie
T 12% @7 Fie 3T HEEe $9 F1 8% #wméﬁﬁmlm?{iﬁfw%’?

Options:

1. = 280 9T F gif

2 % 2,160 TAT FHT AT

3 o 240 TIC Hr g

4. % 2,080 TIC FT FATH

Question Number : 63 Question Id : 25498914292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Train A crosses a stationary Train B in 50 seconds and a pole
in 20 seconds with the same speed. The length of the Train A
is 240 metres. What is the length of the stationary Train B?

Options:

1. v 360 metres
2. % 260 metres
3. = 300 metres



4. = Cannot be determined

Question Number : 63 Question Id : 25498914292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

AR Ea T Ar s R o S 0 TS AN A R = A #
warE 240 HeT ¥ T &9 B Fr 9 e 37

Options:

1. v 360 HEX
2 « 260 AT
3. % 300 #HEeT

4. « TUiRE 7@ o a1 g &

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549893348

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6
Sub-Section Number: 1
Sub-Section Id: 2549893361
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which of the following word will come second if all of them
are arranged alphabetically as in a dictionary?

Options:

1. = Granular



2. » Granary
3. v Grandeur
4, = Grandkid

Question Number : 64 Question Id : 25498910058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

g il ersal I T erscehlel &+ 37eTHR qUﬁa;;hH " sgaieerd
foham ST &, o Teafoiad & & ie A7 eeg iy F2ATe W
IRAIT?

Options:

1. = Granular
2. = (@ranary
3. v Grandeur

4. = Grandkid

Question Number : 65 Question Id : 25498910130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

38 Ahed &7 T & o T 98 F 347 diE gEad & o
foF Tgell Ue @Y g & HeTId g

ol : iedc : ST : ?
Options:

1. = §9c¢ (Gallop)
2. v 8T (Stable)
3. = Neigh

4, = IRITT (Byre)

Question Number : 65 Question Id : 25498910130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Select the option that is related to the fourth term in the same
way as the first term is related to the second term.

Nun : Convent :: Horse : ?

Options:

1. = Gallop
2. v Stable
3. = Neigh
4. = Byre

Question Number : 66 Question Id : 25498912842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Instruction: Study the following series of alpha-numeric-
symbol combination and answer the question that follows.

SKG6LQ2R*CFB8ESG2#49LN3UV5YaB7W3$9

Question: What should come in place of question mark (?) in
the following series?

SOKeWEQ727?2Carl

Options:

1.« RY™
2.5 *YC
3.« 2BR
4. vRB*

Question Number : 66 Question Id : 25498912842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



TeITeT&T Tul-HCAT-TcTeh Aol T Aol I eI
AT 39 &€ T 1T vesd &T 3cd? &

SKELEQ2R+CF8ESG2#49LN3UVS5EY
aB7WZ©

TeaTTelT=IT S7arelr # "es s (?) & TU T AT 3R—E?

SOKEWEQ/2?CuaF

Options:

1. = RY =
2. = x Y C
3. » 2B R
4. v R B *

Question Number : 67 Question Id : 25498912896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Find out which of the letter-series follows the given rule:

Number of letters skipped in between adjacent letters in the
series decreases by two.

Options:

1. v CLSX

2. » EHKN
3. = USOM
4. = MQUY

Question Number : 67 Question Id : 25498912896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



T oM for iel &7 37&TT-H=elr AU a¢ f&gH 1 drefel )
.y

Ueh ATl H folehcad! &R & ST H I3 - & T &7
H 2 kT FAT & T &

Options:

1. v CLSX
2. = EHKN
3. = USOM
4. = MQUY

Question Number : 68 Question Id : 25498919039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is the same as Cygnus, Pleiades, and
Scorpio?

Options:

1. = Sirius
2. v Orion
3. % Venus
4. = Vega

Question Number : 68 Question Id : 25498919039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O
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Options:

1. = IRTH
2. v 3G
3. * <k
4, = QI



Question Number : 69 Question Id : 25498919621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

"Select the alternative with the most appropriate description
of the following three words.

Goat : Whale : Lion ”

Options:

1. = They are herbivores.

2. v They are mammals.

3. » They are aquatic animals.
4. = They are extinct species.

Question Number : 69 Question Id : 25498919621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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GENERAL AWARENESS
Section I1d : 2549893349
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions; 6



Number of Questionsto be attempted: 6

Section Marks: 6
Sub-Section Number: 1
Sub-Section 1d: 2549893362
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In which one of the following places was Asia’s first Export
Processing Zone (EPZ) set up?

Options:

1. v Kandla

2. » Cochin

3. = Surat

4, = Santa Cruz

Question Number : 70 Question Id : 2549895241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:

1. v RISl
2. % hrdle
3. gId

4. = GIdl ol

Question Number : 71 Question Id : 25498912749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which country hosted the 1990 Commonwealth Games?

Options:

1. = Scotland
2. v New Zealand
3. = Canada



4. » Kenya

Question Number : 71 Question Id : 25498912749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:

1. = Thicels
2.#@@@?
3. » hell3T

4. = Rl

Question Number : 72 Question Id : 2549895305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

During the monsoon season rainfall decreases from the Ganga
delta to the Punjab plains. This is because:

Options:

1. ¥ monsoon current moves westward along the Ganga plain
and becomes drier.

2. = western regions are warmer.
3. » hills do not form barriers for winds.
4. = the area is far away from the sea.

Question Number : 72 Question Id : 2549895305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Question Number : 73 Question Id : 2549895511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Leucoplast represent:

Options:

1. v colourless plastids

2. = proplastids

3. » cell adhesives

4. = plastids with variable colouration

Question Number : 73 Question Id : 2549895511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Question Number : 74 Question Id : 2549899648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:

4. = SHcY, Focd

Question Number : 74 Question Id : 2549899648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



The Per Capita Income in India was 320 in 1867-68 was
ascertained for the first time by:

Options:

1. v Dadabhail Naoroji
2. * RC Dutta

3. = MG Ranade

4. = W Hunter

Question Number : 75 Question Id : 2549899761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT a work of Rabindra Nath
Tagore?

Options:

1. = Chitra

2. v Kapal Kundala

3. = The Court Dancer
4. = Chitrangada

Question Number : 75 Question Id : 2549899761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O
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Mock
Group Number : 2
Group Id: 2549892322
Group Maximum Duration : 5
Group Minimum Duration : 5

Show Attended Group? : No



Edit Attended Group? : No

Break time: 1
Mandatory Break time: Yes
Group Marks: 0
Isthis Group for Examiner?: No

English Typing Test

Section Id : 2549893350

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0
Sub-Section Number: 1
Sub-Section 1d: 2549893363
Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498927122 Question Type: TYPING TEST

Summer camps are supervised camps conducted to entertain
as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development
of a child and children have fun during this process as they
get to explore new arenas.
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Section Id : 2549893351

Section Number : 1
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Sub-Section Number: 1
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Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498928768 Question Type: TYPING TEST



[nformation. It is the one trae universal thing that we all
carry wilh us every day. Thanks Lo how compuler sysbems
netwrork toecther, We can share the information with others,
Whelher il is & wired conneclion or & WiFi link, compuler
networking has allowred us o have mare information. There
are rany advantages Lo compuler nelworldng which must e
considered. Tt creates a lifestyle which depends on technalogy
L gather the information we need to create the lives we
wint. If something gocs wrong with the computer network
then we hecorne separated and this action ceuld cause great
harem 1o someona who is not prepaced For 0L TTece are some of
the other advantages of cormputer networking that should Tae
Kept into consideration as ey can give you a clear Lhinking
about the computer network, People can share nformation
Irealy. Compuler nelworling allows mdividuals ancd
Iiginesses to share information frecly with one another.
Imagine the dillerence ol sending a leller through g postal
service to sonding the saome letter through cmail and that is
Lthe advanlags & compuler network provides, 10 allows [or
rogular collaboration. Computer networks allow multiplo
[recple to reach to the same platform at once, They may he
in different locations areund the world Dut cach porson can
low nte thelr profile and have docurnents or fles. The modern
cotnputer network allows for global collaboration lor leatns
af any size, Compurer networking data can be stored offline,
Wilh dillerenl [hreals o compuler syslems, Lhe internel and
technelogy structures, there is a need to store information
alllie Lo protect U Lo those who wanl il Compuler
networks can be canmected through the internet via a virtmal
private nelwork o kepl cornpletely olfine o protect Lhe
SYSICM. ANYoNe SN connect To A compuier nerwork, Thers is
& mintmal skill sel required Lo connect Lo | modern compuler
network. 16 you know howr to turn a computer on and then
click on the appropriate shortcuts then U is possible to join a
cotnputer network. The simplicily of joining malies if possilile
for even yvoung chiidren to hepin taking advantagre of the
information thal cortputer provides. Computer connections
can e personalized, The maodern compnier nerwork 5 noet on
all syslem. Access aulhority can be incladed wilth a nelworls
so that individuals can have the particular information thesy
need bul does nol need Lo serl throogh inlormalion they do
nat require. This can ralae ecmplover sccurity and redace the
chances of fraud while st providing leols thal lead Lo
increased productivity. Notworking can also (1l the distanoe
belween tvo people wlo are Hving in diferent cerner of (he
world. The advantages of computer networking shows that
free owine mfermatlon helps a society to orow and makes
them gain knowledee as much as they can or want. Asguming
that active systeins are developed and installed to places the
ellects ol the polenlidl disadvantages ol a4 compuler network
at any level of connectivity will help every society come closer
Lir its [ull potenlizl. Therelore, have a soll hinking Lo Lhal dand
make a right use of the authority that has been gfven to yo,
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